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N = 0l & At & Ml A

2020 S X 3 3 YEH YMS ~ KA
S RAE-1
B AEO BOXK WEAT 75
SRl ATE HIAMHA 23 (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
E-d 470,029 495,735 £25,706
NBO BOXIX WEND 2E 411,609 434,695 23,086
NBY BHNUIA 28 411,609 434,695 £.23,086
FOmY MEEHE N 109,553 119,956 A10,403
101 01248 19,873 30,276 ~10,403
YSIEEEPETPS 19,873 30,276 £10,403
OBLZH ALY
68,7202 +15% %251 +200, 000 2,262 6,385 ~4,123
OZE3IY ARy 68, 72021 x5 x23] 688 1,031 £343
OdEEE BEHN L HHl A=Y 500 1,000 A500
OcSta e +2HH L 2] 2,000 4,000 A2,000
OMASAY F4 o2y 0 688 1688
ONBH HOIZ X8 ALY
68,7202 +10% +23] 1,375 4,124 £2,749
xessg 29 36,788 49,471 ~12,683
101 Q1248 8,498 16,744 ~8,246
VSIEEEPETEPS 8,498 16,744 8,246
oxessy pel aRy
(68,7202 %202 12 +48 )+3,000, 0002 8,498 16,744 A8,246
Yur2 | 28,290 32,727 £4,437
Ar 2H2I b 6,461 0,898 A4,437
OXessy 34 2 A5 2,663 7,100 ~4,437
HH2AAY (MB) 58,420 61,040 A2,620
o= 58,420 61,040 A2,620
Ame o2 Rl 58,420 61,040 £2,620
202 01t 27,380 30,000 £2,620
IENCTI 500 3,120 £2,620
Oy YLz 500 3,120 £2,620
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N = 0l & At & Ml A
0209 = £ 35 YN YA ~ XA
SN e
HE: 440 HOUK WESAD 25
SRl HAB BHAHA 23 (29l & 2)
SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
g+ 416,561 419,161 A 2,600
g8 FHIX UWER/KIA 25 350,361 350,961 A 600
d+0 dIZ M A 25 350,361 350,961 A 600
HEAMHIA 2229 69,737 70,337 A 600
301 LA S 0 600 A 600
09 SAMAHIXKES 0 600 A 600
OZHHYS S 24 BAFT 0 600 A600
HE2AZH (H+H) 66,200 68,200 A 2,000
Jl=23tl 66,200 68,200 A2,000
g8 Jl=3d| 66,200 68,200 A2,000
202 044l 28,000 30,000 A2,000
01 SLHOHI 1,120 3,120 A2,000
ogd g2=xd 1,120 3,120 A 2,000
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A & 0l & AF 2 E A A
20208 = =& 3 3] LESH LAF ~ AAMH
2N ZE
M AAH HFOHAX WEHIT ==
Helr 2N dFHANH A 23 (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
28 427,566 470,728 A43,162
28H FHAUX WEHND = 370,926 410,588 A 39,662
28N B M A 25 370,926 410,588 A 39,662
HEAMHIA 2229 88,620 90,120 A 1,500
201 Let24E] 88,620 89,620 21,000
01 At 22l 23,800 24,800 A 1,000
Ostof &Hl & & ¢ 1,000 2,000 A 1,000
301 LA F 0 500 A 500
09 EALEHIX A S 0 500 A 500
OzZEHLZs s AN =& 0 500 2500
Fo @l MEsd o 65,506 80,924 N 15,418
101 14 Hl 18,856 26,196 AT,340
04 JIZtHZ22XEES 18,856 26,196 AT,340
OsS&z il =g 0 4,000 A 4,000
OHEA Hel 8¢ 0 3,340 A 3,340
201 £Br2%H| 11,500 15,408 A 3,908
02 =224l 5,500 9,408 A 3,908
O=Xaza 29 1,500 5,408 A 3,908
401 Al HIZ 2018 10,830 15,000 AN4,170
01 A& HI 10,830 15,000 24,170
OfIg+== HA 1,430 5,000 A 3,570
OMEotMerd CCTV & X 9,400 10,000 A 600
g 29 28,800 51,544 N22,744
101 14 Hl 0 16,744 N16,744
04 JIZHHZ2XRHEES 0 16,744 N 16,744
OXs=sgY 22l 22y 0 16,744 AN16,744
201 Let2dE] 28,800 34,800 26,000
02 2324l 22,800 28,800 A 6,000
OHIIRS 12,000 14,000 A 2,000
O3 6,000 8,000 A 2,000
oxz=sY 45 & F& 4,000 6,000 A 2,000
HY2IZH (ZEH) 56,640 60, 140 A 3,500
Jl=&dl 56,640 60, 140 A 3,500
Z&H J|23H| 56,640 60, 140 A 3,500
202 044l 26,500 30,000 A 3,500
01 = LH o4 1l 1,120 3,120 A 2,000
OgHd ge=a 1,120 3,120 A 2,000
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SN 2T
HE: HHSYAY (FRDH)
el =P CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
02 M0l 25,380 26,880 A 1,500
ORHEOISH 22,980 24,480 A 1,500
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> A
A & 0l & AF 2 E A A
20208 = =& 3 3] LESH LAF ~ AAMH
M XIAH
M AAME HFOHUX WERD 2=
Sl AAe dHANH A 235 (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
Xl AHH 383,115 383,115 0
KA EHXX WERID *= 324,915 324,915 0
KAHH B MHIA 25 324,915 324,915 0
FOIEO MEEHH A 53,690 53,690 0
101 @14l 20,990 20,990 0
04 JI2ZtHZ22HEE =+ 20,990 20,990 0
Odtd ZHI0] o2 130,000& »29H »23| 7,540 5,720 1,820
O1iBsd 224 FHel o=2Y 0 1,820 A 1,820
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